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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-2_0
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2it]1390.0 (5%) 650. 0 323 KEC: 2080.0, PH: 5.8
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BEREBIEC (2665.0) S5iZZEEC (2000.0) REIKK, BT

#[EKRECE (2665.0 vs 4325.0) 15
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P3-2_0, Day=50 (2025-05-18)
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m=430, FV0=0 m=475, FV0=0 m=570, FV0=0
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30.0 1 30 1 34 4
.01
T T T 27 5 B T T T T 28 1 T T T T T T
940 945 950 400 600 800 1000 430 435 440 475 480 485
m=570,m FV0=0 m=650,m FV0=0 m=720,m FV0=0 m=795,m FV0=0
40
40 - —-— MW —-— MW - MW —-— MW
38 -
38 - 38 1
38 -
36 -
36 - 36 7
36 -
34 -
| 34 -
20 34
32 -
32 1 321 7
570 575 580 650 655 660 720 725 730 795 800 805



m=880, FV0=0

38 4 —— MW
36 -
34 -
32 -
30 15 : :
880 885 890

m=940, FV0=0
—— MW

38 A
36
34 A
32 A

T T T

940 945 950




hour

100

8:00
8:30 80
10:00

- 60
11:25

-40
12:45
13:50 20

14:55




P3-2

BfiE) | BRI (FD) | EE (EH/AR) | XK R

08:00 278 130.0 [Z=| {Ri%@08:00 Bz (FRAMRESE)
08:30 278 130.0 & =| 1Ri%@08:30 Bz (KAEREEE)
10:00 278 130.0 (& =| 1Ri%@10:00 B3h (KRAHERESE)
11:25 278 130.0 El BRige11:25 Bz CGRAEESE)
12:45 278 130.0 5| 1Ri%e12:45 B (GREERER)
13:50 278 130.0 5| {Ri%e13:50 B3 (RAERSE)
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FEREHEBRE STEELRF (179.0
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145.0), AIEERT—@E XAH5
EORGEBIRTC (278) 574 (250. 0) A FF, AIREH T % @R #EiRS %2 XiER

BERSEBIEC (2660.0) S5iZZEEC (2000.0) REIK K, BHHE

#[EKECE (2660.0 vs 4395.0) 15




P3-2_0, Day=49 (2025-05-17)
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P3-2
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14:00 278 130.0 [ =| 1Ri%@14:00 Bz (kAFEREEE)
14:55 278 130.0 (& =| 1Rige14:55 Bz (RAHERESE)
21t+]2502.0 (97%) 1170.0 3203 KEC: 2080.0, PH: 5.8

EREBRK (278) S5TREA (241. 0) R, FIREM T & WEIEIRS X XER

2RI\ PRIERE150. 0 ml.

REREEBIEC (2660.0) 5% TEEC (2000.0) REK K, HHE

##[EKECE (2660.0 vs 4355.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=48 (2025-05-16)
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m=430, FV0=0 m=475, FV0=0 m=530, FV0=0

- M_E 33. 80 - . M_E
0.8+ 0.8 4
33. 75 A
0.6 1 0.6 -
33. 70 A
0.4+ 0.4+
33. 65 A
0.2+ 0.2 4
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
33. 60 -
T T T T T 0 0 T T T T 0 0 T T T T T T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0 536 538 540 542 544
m=570,m FV0=0 m=625, FV0=0 m=680, FVO0=0 m=725,m FV0=0
35.5 1 35.5 1
—&— ME —@— ME —&— ME 35 5 - —@— ME
35.0 A 35.0 A
35.0 A
34.5 - 34.5 1
34.5 A
34.0 A 34.0 -
34. 0 A
23.5 33.5 -
33.5 A
33.0 - 33.0 A
33.0 A
T T T T T T T T T T T T
570 575 580 625 630 635 680 685 690 725 730 735
m=765,m FV0=0 m=810,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
36. 0 -
- ME - ME 3554 @ ME *o| 0] ME
35.5 A
35.0 35.5 4
35. 0 A
34.5 - 35.0 1
34.5 A i
340 - 34.5
34.0 A 34.0 4
33.5
33.5 A 33.5 A
33.0 A
765 770 775 810 815 820 860 865 870 905 910 915
m=970,m FV0=0 m m=430,m FV0=0 m=475,m FV0=0
1.0 1.0
—-@— ME
42 1
0.8 A 0. 8 1
10 0.6 1 0.6 1
0.4 0.4 -
38 +
0.2+ 0.2 -
o MW Warning: col "M W ] missing Warning: col "MW ] missing
T T T 36 B T T T T T 0- 0 T T T T O- 0 T T T T
970 975 980 600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.

m m



m=530, FV0=0

41.5 -

41.0 A

40.5

40.0

—— MW

536 558 5&0 552 5&4
m=725,n FV0=0

42

41 -

40 -

39 A

38 A

37 A

—— MW

725 750 755
m=905,n FV0=0

42

41

40 -

39 -

38 -

—— MW

905 910 915

m=570, FV0=0

42 4

41 ~

40 -

39 A

38 A

—0—

M_w

570

5%5 5é0
m=765,n FV0=0

42

41 -

40 -

39 -

38

——

M_W

37 15
765

7;0 7%5
m=970,n FV0=0

42

41 -

40 -

39 A

38

—0—

M_W

970

975 980

m=625, FV0=0

42 -

41

40 -

39 A

38 -

37 A

—0—

M_W

625

650 655
m=810,n FV0=0

42 -

41

40 -

39 -

38 -

37 A

—0—

M_w

810

T
815 820

m=680, FV0=0

42 -

41 -

40 -

39 A

38 -

37

36 -

—— MW

680

6é5 6é0
m=860,n FV0=0

41 ~

40 -

39 A

38

37 A

—— MW

860

865 870




